= o
A & 0l & AF 2 E A A
20199 &= Z20lA LBHSH T2ALER XYL ~ T2 AY of & 2 TH 1t
FN: EZANEER NGHLH
& ZOHAAL &X
Sl SAANERYURE EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
CEMGEESR NG 12,993,093 16,895,398 23,902,305
Xl 1,028,000
< 145,000
Al 11,820,093
FOEHAAL AX 260,298 113,380 146,918
SANANE2IEE 2 260,298 113,380 146,918
=SS Matzte] 10,298 17,243 A6,945
201 Let2d] 7,298 17,243 A9,945
01 At 22l I 7,298 17,243 A9,945
O=27ML 2| =2 6,630
OZAHEY =2 563,000& = 102 X 5,630
OSJEEY =8 50,000& = 202 X 1,000
O=RMLAIEZ M=+ DX 668
OHSE oM 150& * 3,0000H 450
ORI A o4y 72,6003 = 32fA 218
401 Al HIZ 201 I 3,000 0 3,000
01 A& HI 3,000 0 3,000
OBRMY PHIR FHE Y
3,000,000& * 1JH 2 3,000
A2 SSAE HEFEE & FHAHE =8 250,000 0 250,000
401 Al HI X SO 250,000 0 250,000
01 A& Hl 250,000 0 250,000
OANR DBAM G L HUIHE 2
e ) 250,000,000 250,000
ANOIZRSIHEZNEI|EBHE S 12,388,750 16,233,434 A 3,844,684
Xl 1,028,000
< 145,000
Al 11,215,750
AMOIZSHE S 23T 8,959,172 11,241,615 A2,282,443
X 1,028,000
< 145,000
Al 7,786,172
WEALD 2R HLAS 1,102,455 945,985 156,470
Xl 338,000
Al 764,455
401 AIEHI L 201 1,102,455 945,985 156,470
Xl 338,000
Al 764,455
01 A& Bl 1,098,500 940,000 158,500
OFZEs HAHEJAAINCL 7HA WSAHD
X2 HEAE 84,500,000& * 84 676,000
Xl 338,000
Al 338,000




FN: EZANEER NGHLH
M ARG EEZWSIIBES
thel: ANRESE S22 FJH (SH9: &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OoHlsts dAHZEIRAJASAIACIL 4L WS A
222 AL 84,500,000& * 50 4 422,500
03 Al 2 THHI 3,955 5,985 A 2,030
OuWsSAMD 2R HEAY AIEL Y
1,098,500,000& * 0.36% 3,955
SEWUIE HEALS 563,528 280,000 283,528
Xl 140,000
Al 423,528
401 Al I 28I 563,528 280,000 283,528
Xl 140,000
Al 423,528
01 A& HI 560,000 280,000 280,000
Od0l Zs&Hel =3 IMUXZ AXAMY
280,000,000& * 1JH A 280,000
Xl 140,000
Al 140,000
O2E AFUMNe FH U2 EXAE
280,000,000& * 1JH A 280,000
03 A& 2 THHI 3,528 0 3,528
O3duUIZE AXAS AAROHYI
560,000,000& * 0.63% 3,528
2 HEAY 503,600 15,000 488,600
Xl 250,000
Al 253,600
401 Al HI & 28I 503,600 15,000 488,600
Xl 250,000
Al 253,600
01 A& HI 500,000 15,000 485,000
OF= S221J BEHNRXNHAETZ ZHAH(L=2
80m) 500,000,000 500,000
Xl 250,000
Al 250,000
03 A& 2 THHI 3,600 0 3,600
OBHNRNHETZ LAY A2l
500,000,000& * 0.72% 3,600
EYs 2SI LEAY 100,000 65,400 34,600
401 Al HI 2 28I 100,000 65,400 34,600
01 A& HI 100,000 65,400 34,600
O0O82s BHEI LAY 100,000, 000& 100,000
XHd = A S AL 3,429,234 5,465,300 A 2,036,066
401 Al HI 2 28I 3,429,234 5,333,300 A 1,904,066
01 A& HI 3,420,000 5,320,000 A 1,900,000
Ol1=&2Z I T MIAHL=20km)
250,000, 000& 250,000




FN: EZANEER NGHLH
M ARG EEZWSIIBES
Sl ARIZISE S2aFFY CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O2z=&2 I T M I AH(L=20km)
250,000, 000& 250,000
OMAEUZ 10 =d Xtd & M3 AH(L=75km)
700,000,000& 700,000
OHMZL 10 =d Xt& =M Z AH(L=70km)
700,000,000& 700,000
OSH¥ XY Xt T M B AHL=80km)
600,000, 000& 600,000
OXNEETM 2152 2(A=16,000m")
400,000,000& 400,000
OB 0. ESPAX M E A (29200 )
250,000, 000& 250,000
o=2geclst Xt=HHIALS 70,000,000& 70,000
OLHMASEH ME L EAtY
200,000, 000& 200,000
03 Al =TI 9,234 13,300 A 4,066
OXNE ST MBI AL AIE 2 THHI
3,420,000,000& * 0.27% 9,234
DEUTAELE X £ DAHAY 553,600 516,890 36,710
401 Al HIZ 2018 553,600 516,890 36,710
01 A& HI 550,000 513,290 36,710
ONESAHTAIE SR AE AL (132F)
300,000, 000& 300,000
OLYSH(0HEZS) FHIAMS (114 H)
200,000, 000& 200,000
OFFAl ZTHAHEZ(5030) M8 JI2LA AL
HEA 50,000,000& = 13l 50,000
03 A& SR THHI 3,600 3,600 0
OUSUHTAEES X & WHAY AIER0UYI
500,000,000& * 0.72% 3,600
CHASE SIS ALY 350,694 0 350,694
401 Al HIZ 201 I 350,694 0 350,694
01 A& HI 348,750 0 348,750
PSR HORBE(H2AH) )2 U AN
HESA 2,500,000,000& =* 3.15% 78,750
OFSZ2 4 HALNEHEZIHLAS
270,000, 000& 270,000
03 Al S THHI 1,944 0 1,944
OFSZ2 4 AL HEZIHLAG AL
Sl 270,000,000& * 0.72% 1,944
EZANE R 651,933 816,764 A 164,831
201 LB-2d| 38,720 35,080 3,640
02 =224l 38,720 35,080 3,640
ORAUHEN ANt FIIZAHIS
2,200,000& * 1404 4 30,800




FA TZAYER NI
M AMRZRSIEEZNEIIBEY
Sl ARIEEE S2EFTY (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
ORAUASIINALIZIEH HIIRS
15,000& * 160 = 12 2,880
ORolctx=u=JMet SRS
30,0003 * 14004 = 12& 5,040
401 Al Bl & 28I 613,213 745,684 A 132,471
01 A& HI 610,000 740,800 A 130,800
OE2oN FANEBAY
30,000,000& * 504 150,000
OEXNESE MEAY 400,000 * 1,15000 & 460,000
03 AIE 2 0H bl 3,213 4,884 21,671
OEZAE SX2el AlE2U
510,000,000& * 0.63% 3,213
Helol E579 HAAE 1,405,040 1,554,680 A 149,640
X 300,000
Al 1,105,040
401 Al B2 28I 1,405,040 1,554,680 A 149,640
Xl 300,000
Al 1,105,040
01 A& HI 1,400,000 1,550,000 A 150,000
O=SU=uwel 44 HE 0B+ HEALS
120,000,000& * 50 £ 600,000
Xl 300,000
Al 300,000
O0EoEs7d e L X2l Ared (28504
) 800,000,000& 800,000
03 AIE 2 0H bl 5,040 4,680 360
O0e o2 HEMY & SX2el AIER
CHul 1,400,000,000& * 0.36% 5,040
LOoES AN ALS 130,936 0 130,936
< 65,000
Al 65,936
401 Al B2 2O HI 130,936 0 130,936
< 65,000
Al 65,936
01 A& HI 130,000 0 130,000
OLQESTY HEMA(SHZR2LE S 3MA)
130,000, 000& 130,000
< 65,000
Al 65,000
03 AIE 2 0H bl 936 0 936
OLeEs2Y HHAY AlZ R0
130,000,000& * 0.72% 936
MEAOHEZHHI ALY 161,152 470,000 A 308,848
= 80,000
Al 81,152
401 Al Bl 28I 161,152 470,000 A 308,848




EX: E2AIEEE XY
M ANORFE NSRS
Sl MRS T2E I CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 80,000
Al 81,152
01 Al&H| 160,000 467,000 A 307,000
OMERAOHTZTZ HUIAFS (3MA)
160,000,000 160,000
& 80,000
Al 80,000
03 AlE 20| 1,152 3,000 A 1,848
OMEAHOHETZ HUIAIY Al 204
160,000,000 = 0.72% 1,152
c2l)ls A2 7,000 42,500 A 35,500
201 LBt Y| 2,000 2,000 0
01 AP 22| H| 1,000 1,000 0
OHMe e 236l UIFMA K0l
2,0008 » 5= * 100 1,000
02 22244l 1,000 1,000 0
OWEXEFI KA 1,000,000 = 1X 1,000
305 HHAZ2 S 5,000 5,000 0
01 HIASS 5,000 5,000 0
ONEHHAIAE AP HIAZ
500,000 = 108l 5,000
=MPNEI|BLES 1,517,578 1,463,801 53,777
ANEHOIE &43AY 614,091 585,095 28,996
201 LBt | 21,500 15,500 6,000
01 AP 22| d| 21,500 15,500 6,000
OXNEHOIE 8 =8 H&
1,000 = 5,0000H4 5,000
OFFANL NENEE EE 49
300,000& * 2000 A& 6,000
OXNEH WECHHNE 2AISE
70,0008 = 1503 10,500
307 2iz2to| A 19,000 16,000 3,000
05 QIZtR E 2 19,000 16,000 3,000
ORFHNUO A & LRHSY 29
19,000,000& 19,000
401 AlEHIZL 2 0HY| 573,591 553,595 19,996
01 Al&H| 570,000 551,075 18,925
OXNEHEZ2 HH|(L=454.4km) 200,000,000 200,000
OR29AHE NHEHEZ2 AHH|Z2AHL=130m, B=2
.6m) 90,000,000 90,000
O0I¥H XEAHER2 HH|Z2AH(L=1.3km)
80,000,000 80,000
O2=22 NAEH B T2 AHH|Z2AHL=
700m) 200,000,000& 200,000




FN: EZANEER NGHLH
M ARG EEZWSIIBES
©el: SMNE)IgEY (chel: &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 AlE 2 THHI 3,591 2,520 1,071
OXNENEZEHHl AR
570,000,000& * 0.63% 3,591
NHEHAE FX 2 ALY 297,227 240,626 56,601
201 ¢er24| 5,000 5,000 0
02 =24l 5,000 5,000 0
OR4E NEH HHA THEAH =2l
50,000& = 1002l 5,000
206 M= Hl 10,000 10,000 0
01 =8l 10,000 10,000 0
OX&EIN 2BII1F=LI| & 4x1&H 7
500,000& = 203l 10,000
401 AIEHI L 20 280,227 223,626 56,601
01 A& Bl 278,275 222,070 56,205
OXEN M2 KX 22| (L=76.5km)
150,000, 000& 150,000
OXNAEHE=ZYH E2I|(L=76.5km)
30,000,000& 30,000
OX&EAN B2UEX 600,000& * 10= 6,000
OXN&EN WSAHMHEXE FHI
200,000& * 1009H £ 20,000
ONBANFMETZ EXY Hul
150,000& * 1009H £ 15,000
OX&EN & &X 5,000,000 * 1090 2 50,000
ONENERZ FRRAZCIAY HALHES
150,000,000 * 4.85% 7,275
03 Al S THHI 1,952 1,556 396
ONEN HEEZZ RX 22l AIZRUH
271,000,000& * 0.72% 1,952
405 TtakH S| 2,000 2,000 0
01 AL EFH S 2,000 2,000 0
ORHE MNEANUHHA: IHEA H P
200,000 * 10CH 2,000
PASAHE HEANETZ MID/AEX Y UMY 302,160 0 302, 160
401 Al HIZ 201 8] 302,160 0 302, 160
01 A& HI 300,000 0 300,000
ORASHNE HENEE AL |EXNS FHIA
& 300,000, 000& 300,000
03 A& =TI 2,160 0 2,160
ORASHNE HENETE AL FEXNS FHIA
2 AR 300,000,000& * 0.72% 2,160
NSHWEEZ X SSHALS 270,000 0 270,000
403 XSS =0l & 270,000 0 270,000




EX: E2AIEEE XY
M ANORFE NSRS
gel: sMuSIIgEd (eel:&d)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
02 BI2SHUSAN2EAEAIS Y 270,000 0 270,000
OWEaHel~ZBUHAHE SAX OIS K=
3t AP 270,000,000& 270,000
NEHLEAMAS LT S FALS 1,000 1,000 0
203 SR F & 1,000 1,000 0
03 AIZH =& 25 X H| 1,000 1,000 0
oot R=4Al 1,000, 000& 1,000
TS 2 A 22l 33,100 0 33,100
201 LBt Y| 16,100 0 16, 100
01 AP 22| d| 16,100 0 16, 100
Oz ANY2E Hd2HEA M
10,000& = 808 = 103 8,000
OJ=2Z22d NEAsE WM M2
15,0008 » 300& 4,500
Oz &eldos AoXE HZ
30,000 * 30 * 43| 3,600
203 R F & 17,000 0 17,000
03 AIZH =X 2 F X H| 17,000 0 17,000
OXNYEIMNE HdRE=X 9,000,000 9,000
oAL B ot L DAL =7
8,000,000& 8,000
sSE T2U = 1,912,000 3,528,018 AN 1,616,018
(2~ E2E T H DA 1,000,000 704,410 295,590
401 AlEHIZL 2 0HY| 1,000,000 704,410 295,590
01 Al&H| 1,000,000 700,000 300,000
O~ T2 I A ZAH(L=1.19%m)
1,000,000,000& 1,000,000
N2~0I X2 = A X Z2 At 150,000 0 150,000
401 AlEHIZL 2 0HY| 150,000 0 150,000
01 Al&H| 150,000 0 150,000
O NS~ X2 ol = & X2 AH(L=3.08km)
150,000,000 150,000
SA AIE 2 S22 EZ A Z AL 40,000 0 40,000
401 Al EHI L 204 HI 40,000 0 40,000
01 Al&H| 40,000 0 40,000
O=24 A2l &S 2 A2 AHL=0.35km)
40,000,000 40,000
2A B |2 S 2 EZ A2 AL 195,000 241,728 N46,728
401 Al HI L 2 0HHI 195,000 241,728 N46,728
01 Al & H| 195,000 240,000 A 45,000




FN: EZANEER NGHLH
M ARG EEZWSIIBES
©el: SE S2Y 23 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=4& gsle] T2 EE B AHL=0.318km)
195,000, 000& 195,000
W= HlS2w WSEIHESA 137,000 402,880 A 265,880
401 Al HI K 201 137,000 402,880 A 265,880
01 A& tI 137,000 400,000 A 263,000
OW= HlEZ21 WEIH=3AH(L=0.89%m)
137,000, 000& 137,000
QF Hitg| T2 E L IA 300,000 150,000 150,000
401 AIEHI L 2CHYI 300,000 150,000 150,000
01 A& HI 300,000 150,000 150,000
Oz L] TREIL I T AH(L=1.5kn)
300,000, 000& 300,000
TE(23d) T2 HA 30,000 0 30,000
401 Al HIZ 201 8] 30,000 0 30,000
01 A& HI 30,000 0 30,000
OZE(25d) E279 B (&2l M2
) 30,000, 000& 30,000
HFAN sOHEZZ JI2HE(Hd) =8 89 60,000 200,000 A 140,000
401 A& HIZ 201 8] 60,000 200,000 A 140,000
01 A& HI 60,000 200,000 A 140,000
OsHEEZZ JI2HE(Hd) =8 @HEs)
60,000,000& 60,000
SHotd S&E HEM =E 29,106 0 29,106
SHolD S&HE SIHEAM =E 29,106 0 29,106
SHE oo Y R H=HE NE 29,106 0 29,106
201 Let249] 29,106 0 29,106
01 At 22/l 16,414 0 16,414
Oz (Llct&H, 2HIZ) 100,000& * 103 1,000
O=E=8Xcl 238t =2
500,000& = 24 AL = 23] 2,000
O=H 2K 2R3 MIAESEE=
66,0002 » 23H 1,518
OXNENFTE HM=28 222 1,936
O&4d 330,000 * 49A 1,320
ocd 154,000 * 4MIE 616
O=2NHEEX H2AF== 30,000& = 12& 360
O=SMa & Tz e AdXt
800,000& = 104 = 12& 9,600
02 =224l 12,692 0 12,692
oO=8Xz 2el 12,692
Oxz2eEg =z 900




SN TZAYES XL
MM EHGD ZHE FJHEN =Y
©el: EH5D BFS JAHEAN = (St
SAH-AH -2 (SA) - HREAY - BES 01l Ao %Eﬁ Husz
-281 =8 350,000 * 1CH 350
-stex AH 550,000 * 1CH 550
OxXtE Xl 11,792
- 23t 4,900,00094 * 1CH 4,900
-3t2 Xt 4,300,0009 = 1CH 4,300
—AXIY RERU 1,350 * 8L * 2402 2,592
HYSAAH (ZT2AYER AL D) 314,939 548,584 A 233,645
=23l 77,970 117,000 239,030
Jl=2FH| 77,970 117,000 A 39,030
201 LBt 31,238 69,088 A 37,850
01 AR 22| | 31,238 48,438 217,200
Ol =Y 500,000 * 229 11,000
CPIEEEREELD)
8,000 * 223 x 82 x 12& 16,896
oFAIZ=ZIOYW RIE24H  130,0008 * 128 1,560
OEADBAI2 (DFinder) S Xl £ 2=HI
17,820,000 * 10% 1,782
202 04l 33,792 33,792 0
01 2ol 33,792 33,792 0
QJI=AH|
20,0009 * 229 * 82 x 128 * 80% 33,792
203 YR EH| 12,640 14,120 A 1,480
01 222G ALETH| 6,000 6,000 0
QI=H(43) 6,000,000 6,000
02 HRAIIAY R F XY 2,440 3,920 21,480
OXFRAINAA R EXH| 40,0002 * 61 2,440
04 BN2IALETH| 4,200 4,200 0
©JIZE M (250105t) 350,000 * 128’ 4,200
405 KH&HE S HI 300 0 300
01 MY EEF SH 300 0 300
OO0IE MUY 300,000 * 174 300
29 H 236,969 431,584 A 194,615
2] 236,969 431,584 A 194,615
101 @124l 236,969 431,584 A 194,615
01 E2 229,874 424,928 A 195,054
OLEE Al2t224Y
10,2992 * 629 = 30AI2t * 12€ 229,874
02 JIEt R E 4 7,095 6,656 439
OHZ AN2LA2R2g
10,4302 * 1% * 30AI2t = 128 3,755
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== A
N & o & AF & H Al A
20198 &= E0la Lo S2AMYEER NIHEY ~ CZ2AHE2F ot L TH
FA TZAYER T 2AED
Ha: OTA Y ASHO JFEE TRISY 7S
Sl ERUM PACRY XI| 7E (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
CZANYER TZAED 24,786,580 24,139,899 646,681
AT A U 9SHQ otME T 2SS A5 21,605,614 20,917,461 688, 153
FRUE B9 Z2Y X)) 2F 7,013,000 13,479,000 26,466,000
RASAHE EF ALY 200,000 0 200,000
401 Al Bl 28I 200,000 0 200,000
01 A& HI 200,000 0 200,000
ORASHNZ SHE AL (L=0.64km, B=35m)
200,000, 000& 200,000
FFo0lHAadEE UES 41X 3,000,000 3,003,000 A 3,000
401 Al Bl 28I 2,000,000 1,003,000 997,000
01 A& HI 2,000,000 1,000,000 1,000,000
OdtolHA RNAE 2 & B3 AH(L=0.2km, B=20m)
2,000,000, 000& 2,000,000
403 XSS A=0l& 1,000,000 2,000,000 21,000,000
02 SO 2SOICHe U2 2 E A I 1,000,000 2,000,000 A 1,000,000
OGIOIIHA MBUSS EXSA 2FE=2
1,000,000, 000& 1,000,000
FF(2Y-2Y) =AMz AHE 3,813,000 4,010,000 A 197,000
401 Al I 28I 3,813,000 4,010,000 A 197,000
01 A& HI 3,813,000 4,000,000 A 187,000
O=EUHRIAETZ(SL~EY) AL BA(L=13.
08km, B=20m) = AtH| 3,813,000, 000& 3,813,000
SHNE BéHel & T A PE 14,311,238 6,359,088 7,952,150
SAMY JHYEX 24 857,000 659,469 197,531
401 AIEBIZ 28I 857,000 659, 469 197,531
01 A& tl 857,000 655,500 201,500
OJIEAER B4 (12m0l &)
50,000,000& = 16& Xl 800,000
OM&A BHEs =2 57,000
O2gsY ==& 400,000& = 30 X 12,000
OLHEI 248
200,000& = 30Z Xl = 2)4DJ|= 12,000
OSIEE =8 50,000& = 60 X 3,000
OJIEgdEXl Iz SIHEE xR
500,000& = 60 X 30,000
S2I/HY AMSFMHA FDI| 43,238 50,619 AT,381
101 @124l 30,682 10,345 20,337
M4 II2HZ22NSES 30,682 10,345 20,337
OEAMXZ BRERA B 30,682




2N
X ZH -
L= B

el

CENYER S2ALD
FACA Ul HSHQ QNS CE2NSY PE
SHDE BMHR L AHCA P

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OFP&lz BrzEed oTg
66,800& * 29 * 262 * 88 27,789
O=20d=z 22 27,789,000 * 4.5% 1,251
OlnaEggs 242 27,789,000 * 1.5% 417
OAtATHO 282 27,789,000& * 1.05% 292
O=Z02H2AEsg =z 2432
27,789,000& * 3.12% 868
OMINLAESEESEE 2=
868,000 = 7.38% 65
201 LBt Y| 12,556 40,274 N27,718
01 AP 22| d| 9,782 39,782 A 30,000
OA S MAFR D] 9,782
OB ADBAZ (Dfinder) & Xl 224
148 ,500& * 123 1,782
OANSMHARD AsHE(SE2, AXH)
300,0008 = 202 X| 6,000
OolssX &8 THAM 20,0008 * 10004 2,000
02 Z2=2=24%4| 2,774 492 2,282
038 2= 2,150 = 3000 * 12& 774
OA2&s(IHE) 22 1,000,000 * 23| 2,000
HFEA A2 T2 EE ZA 8,312,000 2,707,000 5,605,000
401 AlEHIZL 201 Y| 8,312,000 2,707,000 5,605,000
01 Al&H| 7,812,000 2,000,000 5,812,000
OHFA-S M TREAFTAHL=2. Tkn, B=B—2
5m) 7,812,000,000& 7,812,000
02 2teldl| 500,000 700,000 A 200,000
OFHFA~2 M2t T2 X B AH(L=2.1km, B=8—2
S5m) &G EHQl2tp| 500,000,000& 500,000
E~IIE2t T2 E Z At 2,200,000 0 2,200,000
401 Al HI L 204 HI 2,200,000 0 2,200,000
01 Al&H| 2,193,000 0 2,193,000
O~ 2t T2 & Z AH(L=1.61km, B=10m)
2,193,000,000& 2,193,000
03 Al 201 Y| 7,000 0 7,000
OE~IIE2t T2IHEZ2Z AL Al 2|
7,000,000& 7,000
Dsd MEYE2Z2 D2 &I 2A 1,400,000 673,000 727,000
401 Al HI L 2 0HHI 1,400,000 673,000 727,000
01 Al&H| 1,400,000 500,000 900,000
O0l&d MYUEZTZ DX A X Z2AHL=7.0km,
B=8.5m) 1,400,000,000& 1,400,000
D DIKFE~0| N2t S22 E 2 At 600,000 0 600,000




2N
X ZH -
L= B

el

F1 oo

2ANYER TRALD
ST Al CHHl HSHQ OIFS CENSY PE
NDE BMHR L AHCAl D

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
401 AlEHIZL 2 0HY| 600,000 0 600,000
01 Al&H| 596,220 0 596,220
OO0 D/E~DIKFMHEIZ2E T2 ZAHL=
0.33km, B=12m) 596,220,000& 596,220
03 AlE 201 Y| 3,780 0 3,780
O0I¥H DIFE~0KAHIZ2ZE T2 Z2AH(L=
0.33km, B=12m) Al& £04H| 3,780,000& 3,780
S E KA Z SHEZAF 870,000 0 870,000
401 Al EHI L 204 HI 870,000 0 870,000
01 Al&H| 870,000 0 870,000
oM IHE XU SEZAHL=0.18km, B=16—2
2m) 870,000,000& 870,000
olS~E=ES2 T2 HE Al 29,000 0 29,000
401 Al HI L 2 0HHI 29,000 0 29,000
01 Al & H| 29,000 0 29,000
OFoIsS~ZE=2t BEE A X Z2AH(L=1.9%mn, B=2.
5m) AAIEH Y| 29,000,000 29,000
AlE A2 181,376 146,273 35,103
SMHAH(ZZ2)22] 21,376 12,113 9,263
201 gEt24Ay| 19,376 10,113 9,263
01 AP 2t 2] H| 19,376 10,113 9,263
O=SF M 2|3 18,708
OZFHEHE =2 885,400 * 20 X| 17,708
OsIs"e =42 50,000& = 202 X 1,000
OZKMAAIE2E EMDXNAN 2 668
OzsE 150€ = 3,0000H 450
[@PNPS] 72,6008 * 38+A 218
203 SR F & 2,000 2,000 0
03 AIZH =X 25 X H| 2,000 2,000 0
OEZME gR=4 2,000,000 2,000
S Z2lAIAE 22| 160,000 134,160 25,840
201 LBt Y| 160,000 134,160 25,840
02 Z2=2=2494| 160,000 134,160 25,840
OJIZEotE Ze|AIAE S 22
160,000,000 160,000
NS FELAS Qs JBAIE &5 100,000 933, 100 A 833,100
SO LA E22 E20H4 100,000 0 100,000
401 AIEHI 2L 2 0HY| 100,000 0 100,000
01 Al&H| 100,000 0 100,000




2N

=
M ZFATA U 94X tME E2nsEsd 2=
Sel SEXS DHUHES A VAL 25 Sl )
5 - 4
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
Os&EH LA~iisS2 T2 A (L=0.6km, B=15m
) 100,000, 000& 100,000
HE2LAZH(ZZAE D) 72,707 64,388 8,319
Jl=&l 72,707 64,388 8,319
Jl234 72,707 64,388 8,319
201 2et24d] 39,415 37,940 1,475
01 At 2teltl 32,424 31,156 1,268
OJlege=ad 500,000& =« 189H 9,000
O=ZHI(J1E&HI)
8,000& = 18 * 8& » 123 13,824
O=RML & T2OHEYR I Xz
800,000& = 104 ~ 12& 9,600
02 =224l 6,991 6,784 207
O=7e ¥ E2HEHS JXINE 7FH|
1,343 * 82IH * 240 2,677
OH#F AR EHl S AHI 2,754
O=ALJ| 19,415,000 = 1CH * 8% 1,554
OEZE=2HEZEH 15,000,000 = 1CH * 8% 1,200
OBM4EZZ N RIES 130,000& » 12&8 1,560
202 o4l 24,192 22,848 1,344
01 = LH 4 Hi 24,192 22,848 1,344
OJIEZ
20,0003 » 18% = 8 « 1228 * 70% 24,192
203 ¥ S =&l 3,600 3,600 0
04 FENSEHR=LH| 3,600 3,600 0
O©JI & (2021 0138t) 300,000& = 12& 3,600
405 TtobFH S| 5,500 0 5,500
01 AL EZFH S 5,500 0 5,500
O& K= AL 5,500,000& * 1CH 5,500
HRES(Z2AE) 3,108,259 3,158,050 A 49,791
WEHHX S 3,108,259 3,158,050 A 49,791
LHEHeH X = 3,108,259 3,158,050 AN49,791
705 ==& cl 34 3,108,259 3,158,050 AN49,791
1= 4s 3,000,000 3,000,000 0
OFY-2S, F2-Jt9, HFBA-FAZL &
2 8ltz =4 3,000,000, 000& 3,000,000
02 Ofl =3 Ol A+& &t 108,259 158,050 AN49,791
OFA-2S, BRI, H4YJA-YURN &
2L s8kt= 0l ktae 108,259, 000& 108,259




= o
A & 0l & A & F Al
A S2ANYEE KGNS ~ S22 A of & 2 TH 1t
ot
gt d4HotA
gt ot |2 )
= _ — d =
HE - B (3H) - KISAY - BYS 0l &t o e 2
CEMNPER Gt 21,223,542 14,418,702 6,804,840
=2 6,908,500
Xl 3,439,000
< 1,926,000
Al 8,950,042
ot S Motes otdEh MHGHA 21,168,172 14,368, 142 6,800,030
= 6,908,500
Xl 3,439,000
< 1,926,000
Al 8,894,672
&l =32 RE otd |2 3,865,672 3,733,333 132,339
= 1,410,000
Al 2,455,672
o = &t St 2tel 1,939,524 1,845,547 93,977
1 & 752,320 732,878 19,442
01 At 2teltl 539,728 536,448 3,280
g2 22 & =23 8,900
Ocl2d & g8 200& = 10,0000H 2,000
Og+=9 70,000& = 1004 700
o&st 15,0002 * 12004 1,800
(OF = 500& = 3,0000H 1,500
OHmM = A &F 2,000& = 1,20004 2,400
Oam 100,000& * 54 500
fad e B
45,0003 * 15004 + 43 2,700
a2+, tha%&)
200,000& » 1104 « 123 26,400
HES ===
100,000& = 5JH 4 « 123 6,000
= ANEZeldl (B2 sHES A
82,000,000 82,000
= AUS (=213 3 A
27.37& = 80,000 » 180€ 394,128
Axz (24D, g4)
500,000 * 20CH 10,000
A NEEHZE LY
800,000& * 123 9,600
32| 212,592 196,430 16,162
oxIIR3 E, =2, =0, &, st&
A s) 150,000& = 634 « 123 113,400
OAdt=% SHEA, S20)
1,000& * 130& = 5 *12& 7,800
oOsdR3 &, =2, CCTV, 8&E S)
60,0003 * 4002 + 128 28,800
OGtE A &Hl RXE 24l
300,000& * 200K £~ 60,000




FA: TZALER SHE YD
M AN Mot HME MHGHA
Chel: =32t S HRE ot s 2te (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
oOxE s FHl 1,350 * 82IH * 240 2,592
203 R F=&H| 2,000 2,000 0
03 AIMFAH S Z=AY| 2,000 2,000 0
Ootded HRF& 2,000,000& 2,000
206 M=t 12,000 10,000 2,000
01 =8l 12,000 10,000 2,000
OCtEAIEE 2CIEZ(SEX, LM, 853
7, 3AE8 S) 12,000, 000& 12,000
305 a2 S 2,000 2,000 0
01 e =S 2,000 2,000 0
OotdAIEE M=oz Qs o4&
1,000,000& =* 23] 2,000
401 AIEBIZ 28I 1,001,204 928,669 72,535
01 A& Bl 995,136 923,305 71,831
AN EAI| M (RAEW ~ HEW(FOF)
) 4023 * 120,000m = 13 48,240
OR4AE E2I| ME(RAFW~HIW(RH))
402% * 70,000m * 13 28,140
OR&AE E2I| M (HEW ~ DWW (F0H))
402% * 76,000m * 13 30,552
ORAME EZ)| AG(HYuw~ D2u(R0H))
4023 * 62,000m * 13 24,924
OR4A EX,33 & &MZ K2l
402% * 140,000m * 13 56,280
OXgotd AU (=SHA, E4, NEEE
= ) 150,000, 000& 150,000
OR4H 22 Rollal=2 MA
500& * 150,000m * 13 75,000
ORAE ANETH ¥ RAE(MNYZ, W
2, gd2te F) 100,000, 000& 100,000
OR4&E HEE ZCHX ZdAY
28,000,000& = 13 28,000
Odtd HIIANEE B4l (=& =2, 22
ANE s S) 15,000, 000& 15,000
ORMF SFZAS (SEA L GtA HA,
82 2tel) 270,000, 000& 270,000
ORAME HEANE S22 (LSEH L Al
HAEHl 850 A) 8,000,000& 8,000
OXgotd SAAIE X2l 21,000,000& 21,000
OI+% L Hi+2 HUAMA S8A(DISALH)
70,000,000& = 13l 70,000
OW+T L W42 FUFHY A (A2
70,000,000& = 13l 70,000
03 AIE 2 0HHI 6,068 5,364 704
OAIE = 963, 128,000& * 0.63% 6,068




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
403 UHXSHHSA=0l& 170,000 170,000 0
02 SO 2SOCHst 2 X 2 A I 170,000 170,000 0
Oti=& 2(=)er22l(4H2) 170,000,000 170,000
StEGH M DI EatALY 94,286 104,000 N9,714
= 66,000
Al 28,286
401 Al HIZ 2018 94,286 104,000 N9,714
= 66,000
Al 28,286
01 A& HI 94,286 104,000 AQ,714
Oot&ol+ Meldl Zatard 94,286,000 94,286
=2 66,000
Al 28,286
=Jtotd |X22lAre 1,344,000 1,320,000 24,000
= 1,344,000
201 2et24d] 90,000 80,000 10,000
= 90,000
02 =24l 90,000 80,000 10,000
o0z22= % HA 30,000
Otil+=2 Ste=s
100,000& » 20004 = 123 24,000
= 24,000
Oth+=2 &JIe3 500,000& * 123 6,000
= 6,000
Oct&E U A2 &H KXl 60,000,000& 60,000
= 60,000
401 A& HIZ 201 I 1,254,000 1,240,000 14,000
= 1,254,000
01 A& HI 1,250,000 1,234,000 16,000
O=Jtotd S 2elAtY 1,250,000, 000& 1,250,000
= 1,250,000
03 A& =2 THHI 4,000 6,000 A 2,000
O=2Jtotd SXN2elAtd AIZ =20
4,000,000& 4,000
= 4,000
R MAH(BHA) 2el 3,671 3,671 0
201 2yt 2 Y| 3,671 3,671 0
01 At 22l 446 446 0
O=2®Te AAE2Z S0t DXAM M 446
OF=F 150& = 2,0000H 300
OLIX A 72,6003 » 29 A 146
02 =24l 3,225 3,225 0
O="Te 2Helx=s3 3,225




PN CIMNYER SIS
g Ny SMHote s dHoHA
El=Z 2t 22 HRE ot R 2l (Sl & &)

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZAHEY =2 545,000& = 5E X 2,725
OsSJEE =8 50,000 & = 102X 500
=8 ALY 484,191 460,115 24,076
307 21201 A 254,261 225,000 29,261
02 It S AIHE L 254,261 225,000 29,261
O H=7Y(22H) 233,000, 000& 233,000
OL-A32 BT HIR Y BB 252
SHEH) 11,261,000 11,261
Odted2el Hstx FA2el ¥ LA(EEH)
10,000, 000& 10,000
401 A& HIZ 201 I 150,120 143,820 6,300
01 A& HI 150,120 143,820 6,300
OBFEHRY Z0I=AANY (AN HCO)
150,120, 000& 150,120
402 BI2FX=201 M 79,810 90,295 A 10,485
01 2Pt 2 AL 2 X (KA & 79,810 90,295 A 10,485
O=&1cl Ot2 SS&E1D ST A H)
19,960,000& 19,960
OFS1cl $HE CCTV XA (g H)
19,950, 000& 19,950
O&g2el YHE CCTV & RULSAIE XA
dotge) 19,950,000& 19,950
OodF¥e otsdYz 2ZXH 2 HOESE
U (otgd) 19,950,000& 19,950
Mol 22 H etdst ot& &Hdl 13,000,300 5,594,809 7,405,491
= 5,498,500
Xl 1,339,000
< 1,296,000
Al 4,866,800
=2k EHMFAE EXAHY 4,998,500 1,000,000 3,998,500
= 4,998,500
401 AIEHI L 20HEI 4,998,500 1,000,000 3,998,500
= 4,998,500
01 A& Bl 4,498,500 993,700 3,504,800
O#+==2X7 2=MFAIE AL
4,498,500,000& 4,498,500
= 4,498,500
02 Zteltl 500,000 0 500,000
£2NT LLMBAE SXAY HoImL
[Rlp= s 500,000,000 500,000
= 500,000
ST =HFAE XA 1,000,000 0 1,000,000
= 500,000
Al 500,000




2N

M AN Mot HME MHGHA
el W22 H tMEH St JHI (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
401 Al& Bl & 28I 1,000,000 0 1,000,000
= 500,000
Al 500,000
01 A& HI 1,000,000 0 1,000,000
OSUXT =HMRAE EXAE
1,000,000, 000& 1,000,000
= 500,000
Al 500,000
S=MFAE FA22 99,960 91,360 8,600
201 Let249y| 69,960 61,360 8,600
01 At 22/l 2,760 3,760 21,000
OUHERXF =MFIAIE dI|dH2e| S =
= 330,000& = 62 1,980
OMMRX T 2=MFRAIE MI|dH2AE| S =
= 130,000& * 68 780
02 3323l 67,200 57,600 9,600
O A& EHl =Xl 5,000,000& * 63l 30,000
O0z3E2= & HA 37,200
ONIIe3 2,500,000& * 204 = 6 30,000
OSHsld AEE
300,000& * 2JH 4 + 12& 7,200
401 Al& Bl 28I 30,000 30,000 0
01 A& HI 30,000 30,000 0
OR=MEAE 2tel 15,000,000& * 23] 30,000
X Yot X2l ALY 204,000 114,000 90,000
< 204,000
401 Al BIZ 201 8] 204,000 114,000 90,000
< 204,000
01 A& HI 204,000 114,000 90,000
OXgotd S 2elAtd 204,000, 000& 204,000
< 204,000
HEACHE FHHIAEY 372,000 0 372,000
Xl 186,000
Al 186,000
401 Al HI 2 28I 372,000 0 372,000
X 186,000
Al 186,000
01 A& HI 369,322 0 369,322
OdHE Aot FUIAY 369,322,000 369,322
Xl 184,661
Al 184,661
03 AIE 2 0H bl 2,678 0 2,678
OdE AGHE FHIALY AE=R0Y]
2,678,000 2,678




= - — L=
HE - B (3H) - KISAY - BYS il HImEET
Al 1,339
Al 1,339
& AGHE ZHIAY 372,000 0 372,000
Xl 186,000
Al 186,000
401 A& HIZ 201 I 372,000 0 372,000
X 186,000
Al 186,000
01 A& 8l 369,322 0 369,322
OS54 A0td FHAY 369,322,000& 369,322
Xl 184,661
Al 184,661
03 Al S THHI 2,678 0 2,678
Ot Aotd FUIALY A&
2,678,000& 2,678
Xl 1,339
Al 1,339
FSA0HE FHIAY 600,000 896,000 A 296,000
Xl 300,000
Al 300,000
401 A& HIZ 201 8] 600,000 896,000 A 296,000
Xl 300,000
Al 300,000
01 A& HI 596,220 890,400 A 294,180
F=Z A0td FHAEY 596,220,000 596,220
X 298,110
Al 298,110
03 Al 2 THHI 3,780 5,600 A 1,820
OF= A0td HHIAY AIER20UHI
3,780,000 3,780
Xl 1,890
Al 1,890
daotd HUIAS 600,000 800,000 200,000
X 300,000
Al 300,000
401 Al HI X 201 600,000 800,000 200,000
Xl 300,000
Al 300,000
01 A& HI 596,220 794,960 A 198,740
O3E A0td FUAY 596,220,000 596,220
Xl 298,110
Al 298,110
03 A& =2 THHI 3,780 5,040 A 1,260
O&&E Aotd HUIALY AR
3,780,000& 3,780
Xl 1,890
Al 1,890




SN HH-S(BN) - MBAY - B il HlnE2
AHOE AGHE FHIAMY 734,000 600,000 134,000
Xl 367,000
Al 367,000
401 Al Bl 28I 734,000 600,000 134,000
X 367,000
Al 367,000
01 A& Bl 729,376 596,220 133, 156
Ot AGHE FHIAY 729,376,000 729,376
Xl 364,688
Al 364,688
03 A& =TI 4,624 3,780 844
O4tet AGHE FHIALY A& =R044]
4,624,000 4,624
Xl 2,312
Al 2,312
AGIE R E AL 200,000 600,000 A 400,000
401 Al Bl 2B 200,000 600,000 A 400,000
01 A& HI 200,000 600,000 A 400,000
OAotE R X E=Hl 40,000,000& = 53l 200,000
HEALAGHE o= T ALY 800,000 0 800,000
401 AIEBIZ 201 8] 800,000 0 800,000
01 A& HI 800,000 0 800,000
OHRALGHE =7 A 800,000,000& 800,000
SAAMY HY OS2 24 79,840 0 79,840
201 €82l 4,840 0 4,840
01 At 22l 4,840 0 4,840
OB&4YRFX 208 ¢
2,420,000& * 2% 4,840
401 AIEHIZ 201 8I 75,000 0 75,000
01 A& Hl 75,000 0 75,000
OActA OIXIZEX 24l 75,000
OEX E4td] 70,000,000& 70,000
OZFEIMN=E & 5,000,000& 5,000
TEHE HEXF A2 ALY 300,000 0 300,000
< 300,000
401 Al& Bl 28I 300,000 0 300,000
< 300,000
01 A& HI 300,000 0 300,000
OFEH UHEXF FXZelAY
300,000, 000& 300,000
= 300,000
N ot == Al & AHS 2,640,000 0 2,640,000




PN CIMNYER SIS
gz e gmct
Sel: HoHZRE tME st EH

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 792,000
Al 1,848,000
401 AlEHIZL £ 0HY| 2,640,000 0 2,640,000
= 792,000
Al 1,848,000
01 Al&H| 2,640,000 0 2,640,000
ORL X7 BHEAIE HEALE 450,000,000& 450,000
& 135,000
Al 315,000
O A B2 A& &AL 300,000,000& 300,000
& 90,000
Al 210,000
O T BH=AIE JHEALE 560,000,000 560,000
o= 168,000
Al 392,000
OXHE B2 ANE NS AS 250,000,000& 250,000
& 75,000
Al 175,000
OKNKE2X 2 =AY JHEAFY 560,000,000 560,000
o 168,000
Al 392,000
OAMAX 2 HIz=AIE WL AL 520,000,000 520,000
o=t 156,000
Al 364,000
AP XA 0| 2=6l= MEIoHE X4 4,302,200 5,040,000 A 737,800
Xl 2,100,000
== 630,000
Al 1,572,200
MSIA MEHSHE 2JAL 4,200,000 2,520,000 1,680,000
Xl 2,100,000
= 630,000
Al 1,470,000
401 AlEHIZ 201 Y| 4,200,000 2,520,000 1,680,000
Xl 2,100,000
o=t 630,000
Al 1,470,000
01 Al&H| 4,190,000 2,510,000 1,680,000
OXSHE MEIGHE =RAY  4,190,000,0002! 4,190,000
Xl 2,100,000
=} 630,000
Al 1,460,000
03 AlE 2 HH] 10,000 10,000 0
OXAMSIA MEIGIESJAAIY Al 20HHI
10,000,000 10,000
MEHSIE SJAE AMEL2LIHEY 102,200 0 102,200
401 AlEHIZL 2 0HY| 102,200 0 102,200
01 A&l 102,200 0 102,200




2N

M NADY ENHols e MHSIA
EHe: A X0l 2=6t= MEjoE =4 (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
O 2d MESIE S)ANY AIZE 2LHE 2
S 40,000,000 40,000
OZ2SFHd MEIoIA ERAAY AIE 2LIHE 2
=} 62,200,000 62,200
HEMSAAH (S 2AIH =22 oA 2T ) 55,370 50,560 4,810
JlE&ddl 55,370 50,560 4,810
Jl2AH| 55,370 50,560 4,810
201 et 21,916 21,056 860
01 AR 22l ] 21,916 21,056 860
OJI2gR LA 500,000& ~ 179 8,500
o2&l (J1=&Hl|)
8,000& * 17¥ = 8Y = 128 13,056
OSIIAEEBEX H2ARERE 30,000& = 12€ 360
202 04| 23,904 23,904 0
01 2L Hl 23,904 23,904 0
OJ|=Z& |
20,000& * 16Y * 8L * 128  70% 21,504
OGIE G E AMAIZSE 200,000& = 1€ = 12& 2,400
203 ¥ 2 =&XH| 3,600 3,600 0
04 FEASHELIFFEH| 3,600 3,600 0
©J|&=M (20021 0]6}H) 300,000 ~ 12& 3,600
405 KHo&HFE S HI 5,950 2,000 3,950
01 XAt 2 E F S| 5,950 2,000 3,950
O AR EZ2| At 300,000 = 7JH 2,100
O3 oA 500,000 = 1H 500
ONZED| 70,000 = 5JH 350
O WL D[ (99m" = 1}) 3,000,000& = 1JH 3,000




